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@us - 3 SECTION - A
a&Jf56 U2 / Objective Type Questions

U JEAT 1 ¥ 80 d& & UcAs U & Y IR [Aheq U 770 § oo d &
T HET ¢l 9l G@RT I 91T Fel faheq & OMR i W RAFAT H| daer
40 9=t F & 39T &

Question Nos. 1 to 80 have four options each, out of which only one is

correct. Mark your selected option on the OMR sheet. Answer any 40
questions.

1. Jodtd HIS Ueo I WER 61 3l fFa fFara 3meres & eiier & 715 2
(A) SRETelr

(B) 3gHCIEE

(C) =3t

(D) TYROT

During which peasant movement was Vallabhbhai Patel given the title of
Sardar ?

(A) Bardoli
(B) Ahmedabad
(C) Kheda

(D) Champaran

2. FT #H A Toheg AT e & a7 & ST FTam 8 ?
(A) Y. ST

(B) RIS el FHelld 3Tle

(C) @Il 37sqe AFHR Wied

(D) ST gIEATA



Who among the following is also known as Frontier Gandhi.?
(A) C. Rajagopalachari

(B) Maulana Abul Kalam Azad

(C) Khan Abdul Ghaffar Khan

(D) Lala Hardayal

3. IR WHR AT, 1919 F....&F 717 F o S &
(A) ARIY-AFHBIS TS,

(B) ATSHT FHARNT

(C) Ru=T Teegedr Hoert

(D) #g® Rue

Government of India Act, 1919 is also known as
(A) Montague-Chelmsford Plan

(B) Simon Commission

(C) Indian Statutory Commission

(D) Nehru Report

4. 3PRare Al &1 AR fFaa S ?
(A) Tegared A

(B) Fa#AT gfada

(C) |G

=2 2

(D) gV



Who built Angkor Wat temple ?
(A) Chandragupta Maurya

(B) Suryavarman ||

(C) Samudragupta

(D) Harshavardhan

5. Sleifd® gl &1 HIHA 'Iia N/ e forar ?
(A) Ferfae

(B) gl

(C) oifeaat

(D) Mraresr

Who wrote the program 'April Thesis' of the Bolshevik party?
(A) Stalin

(B) Trotsky

(C) Lenin

(D) Garibaldi

6. IecaSEIT Aol fead &hd HARIT ST § ?
(A) 1 &3
(B) 1 S
(C) 5 o=
(D) 8 AT



When is International Labour Day celebrated?
(A) 1st May

(B) 1st June

(C) 5th June

(D) 8th March

7. ‘GATSIarfear $r arsfaer fRd wed ¢ ?
(A) R wus 917

(B) Fogfae Afetheer

(C) g Hitee

(D) 3% AfEd

Which is called the 'Bible of Socialists'?
(A) War and Peace

(B) Communist Manifesto

(C) Das Kapital

(D) April Thesis

8. &Fd 3R dlg' &1 AN Fr JdeFad frast fhar ?
(A) RraTed

(B) ATS=AT

(C) faTh

(D) FaifersT



Who followed the policy of Blood and Iron" ?
(A) Garibaldi

(B) Mazzini

(C) Bismarck

(D) Napoleon

9. T ¥ | FiaA wrkfae Muer 76T § ?
(A) g

(C) s

(B) s1¢

(D) HHRT

Which of the following is not a natural disaster?
(A) Tsunami

(B) Flood

(C) Earthquake

(D) Epidemic

10. a¥ 1934 & T9eR o fhd Wipfdsh 3muer &1 AHaAT fohar a7 ?
(A) gars
(B) sT¢
(C) s

(D) =



Which natural disaster did Bihar face in the year 1934 ?
(A) Drought

(B) Flood

(C) Earthquake

(D) Tsunami

11. o5 ¥ g qFHdT 98 ¥ arafeud ¢ ?
(A) S-2
(B) Si=-3
(C) Sia-4
(D) -5

Kachchh region is related to which seismic belt?
(A) Zone-2
(B) Zone-3
(C) Zone-4

(D) Zone-5

12. AGRR Aol # HF9el Hl Fgd &
(A) 31T

(B) Tshard

(C) g

(D) SETeT

o



The vibration in the bottom of the ocean is called
(A) Earthquake

(B) Cyclone

(C) Tsunami

(D) Landslide

13. #eIS & A &9 gU AN &1 9q1 o & AT R @ B Fgg o S
g2

(A) g

(B) 3RS HaT

(C) gelrepicex

(D) gaHcelt

Which instrument is used to locate the people buried under the rubble?
(A) Telescope

(B) Infrared camera

(C) Helicopter

(D) Microscope

14. #RT T AAUT AT FT TS HT FIHT ?
(A) 1946
(B) 1947
(C) 1948
(D) 1949



When was the Constituent Assembly of India formed?
(A) 1946
(B) 1947
(C) 1948
(D) 1949

15. ToshAT gl & ASCUA oA aIT ?
(A) drels

(B) frehr

(C) ==

(D) AfFFaHT

Nkrumah was elected the President of which country?
(A) Poland

(B) Chile

(C) Ghana

(D) Mexico

16. TSI Sall T AT 3R 3T RKed g fhar srar g



The recognition and symbol of political parties are given by
(A) President

(B) Prime Minister

(C) Election Commission

(D) Parliament

17. "@eR & o & a1 #Ra &1 e @9a 78 § 1" I8 U fFaar g2
(A) Toleg 9HIE

(B) T. dI. . 3isgel FHelH

(C) #EqS-3eT-

(D) FHgTeAT el

"India's development is not possible without the development of Bihar.”
Whose statement is this?

(A) Rajendra Prasad

(B) A. P. J. Abdul Kalam
(C) Mahbub-ul-Haqg

(D) Mahatma Gandhi

18. HXA H ATSAAT HTANT HT IS He FHT ?
(A) 15 |, 1950
(B) 15 &, 1951
(C) 15 3rder, 1950
(D) 15 38T, 1951



When was the Planning Commission formed in India ?
(A) 15th March, 1950

(B) 15th March, 1951

(C) 15th April, 1950

(D) 15th April, 1951

19. N FT FHH FAT hH AT AST=AT FT TEI 3ceT AT ?
(A) Tgelr
(B) g@r
(C) drerdr
(D) grerdy

Development of agriculture was the main objective of which Five-Year
Plan?

(A) First
(B) Second
(C) Third
(D) Fifth

20. AT fara RO #1 g Fea & & fFas garr fmar srar g 2
(A) WTO

(B) WHO

(C) UNDP

(D) ILO



Human Development Report is published by which of the following?
(A) WTO

(B) WHO

(C) UNDP

(D) ILO

21. ¥Rd HT Ugell AlG o RAE Fd Tu=#aT garT St fhar arar ar ?
(A) FTAET g
(B) 37cdl TagRY areradr

(C) $oa AR I

(D) STdTElTd #Ag®

Which Prime Minister released India's First Human Development Report ?
(A) Manmohan Singh

(B) Atal Bihari Vajpayee

(C) Inder Kumar Gujral

(D) Jawaharlal Nehru

22. I & Fash AT YROT R & ?
(A) ETSHA Hoeicd

(B) sr=q

(C) 37e3hs AT

(D) W A




Who gave the concept of vicious circle of poverty?
(A) Simon Kuznets

(B) Keynes

(C) Alfred Marshall

(D) Ragnar Nurkse

23. AR $1 waifas ufa <afFd 3ma arer =7 &9 § ?
GVREICH

(C) FgrISE

(B) ar

PEDIEED

Which state of India has the highest per capita income?
(A) Punjab

(B) Goa

(C) Maharashtra

(D) Karnataka

24. A X A TRy < H AHTSd T A HeT AGT FT FAT FHgd & ?
(A) gfa cafed 3T

(B) 3itHa 3

(C) ITsgrT 3T

(D) 3a7H & HIS Ta1



What is the total amount of income earned in
called?

(A) Per capita income
(B) Average income
(C) National income

(D) None of these

25. AR g7 ST SIS T TS el 3T ?
(A) 1950
(B) 1952
(C) 1948
(D) 1954

When was the Wild-life Board of India formed?
(A) 1950
(B) 1952
(C) 1948
(D) 1954

26. 3qEE F S BT E 2
(A) TF

(B) YedeaiY

(C) weistfar

(D) T4

a country during the year



Who is the father of Ayurveda ?
(A) Charak

(B) Dhanwantari

(C) Patanjali

(D) Sushruta

27. TFAST I 39T gIam §
(A) FRET A
(B) wsH H
(C) &ux &
(D) €. & H

Texol is used in
(A) Malaria

(B) AIDS

(C) Cancer

(D) T.B.

28. fF & @ Pl AdNRONT FoiT HT AT § 2
(A) Fraer

(B) €T Far

(C) vaferma

(D) grhfae 3w



Which of the following is the renewable source of energy?
(A) Coal

(B) Solar energy

(C) Petroleum

(D) Natural gas

29. HRXd FT TIH el SIET Hled-aT § ?
(A) ERTEHS ST

(B) fegdr s

(C) Re=e arer

(D) HTGST-=19Tel ST

Which is the longest dam in India?
(A) Hirakud dam

(B) Tehri dam

(C) Rihand dam

(D) Bhakra-Nangal dam

30. Fgerlld amiar faegd JRATST Fel & ?
7 TR

(B) st

(C) #ETeTR

(D) FfceR



Where is Kahalgaon thermal power plant ?
(A) Muzaffarpur

(B) Barauni

(C) Bhagalpur

(D) Katihar

31. &Y 1 HafeF fFaaererl aier i § ?
(A) dr-ader

(B) TH-alam

(C) wa-adar

(D) &-aar

Which is the most destructive wave of earthquake ?
(A) P-wave
(B) S-wave
(C) L-wave

(D) T-wave

32. foeT # ¥ ¥ 7T 1 '[98R T M’ FHgl STl & ?
(A) ram
(C) =rar
(B) IS

(D) &It



Which of the following rivers is called the 'Sorrow of Bihar
(A) Ganga

(B) Gandak

(C) Kosi

(D) Sone

33. HEHIRAT Wi HIHRI T FEAAUANTT A9T Fe &ail ?
(A) 1929
(B) 1919
(C) 1918
(D) 1914

When did cooperative become the transferable subject of regional
governments?

(A) 1929
(B) 1919
(C) 1918
(D) 1914

34. HIAST 3cUesT # 3ol T HiA § ?
(A) 30fZem

(B) #LT Uc2r

(C) HegRI™g

(D) eAreeh



Which state is the largest producer of manganese ?
(A) Odisha

(B) Madhya Pradesh

(C) Maharashtra

(D) Karnataka

35. fF H ¥ FleT dlg 3TTH T Th TR g ?
(A) foerse

(B) gHmerIsT

(C) fafAera

(D) g1 & @i

Which of the following is a type of iron ore ?
(A) Lignite

(B) Haematite

(C) Bituminous

(D) All of these

36. HI@ST-ATel IRISTT ol AGr I Sell & ?
(A) FET=ICT
(B) TcTorst
(C) Ineradr

(D) FoTr

C



On which river is the Bhakra-Nangal Project built?
(A) Mahanadi

(B) Satluj

(C) Godavari

(D) Krishna

37. faFT & @ *lT RA T Ugell TaGMN TIH § &1 WA] faegd deg &2
(A) IO AT FRR AT fFegd deg

(B) RRT WA faegd dee

(C) ARTIX SRAM faegd Fee:

(D) Ferderehd WA faegd sog

Which of the following is the first indegenously constructed nuclear power
station of India ?

(A) Rana Pratap Sagar Atomic Power Station
(B) Narora Atomic Power Station
(C) Tarapur Atomic Power Station

(D) Kalpakkam Atomic Power Station

38. fgaATae Y & AMOIHOT H fFg YR &1 Foll §IT ¢ ?
(A) TRATI] Fail HIAF

(B) ST Foi &I

(C) aT faegd sl €I

(D) Siel faegd Sl |



Which type of power plant is there at Manikaran of Himachal Pradesh?
(A) Nuclear power plant

(B) Geothermal power plan

(C) Thermal power plant

(D) Hydel power plant

39. yrhfash 3 fhe @i & @Y 9 S § 2
(A) F¥ferara
(B) dgiferast
(C) FeracR
(D) rarer

With which mineral is natural gas found?
(A) Uranium

(B) Petroleum

(C) Limestone

(D) Coal

40. T & TEAT A Fgl oiig STATT 3T FARIT 13T ?
(A) SHRT
(B) I3Thell
(C) T

(D) IR



Where was the iron and steel industry built with the help of Britain
(A) Bokaro

(B) Rourkela

(C) Salem

(D) Durgapur

41, T A7 @ FiT & ardl § 2
(A) otk SeTerfaa arél
(B) Sigstel WATST |ICt
(C) #RWs HiFd A
(D) HRAT SeIdT 91l

Which of the following is a regional party?
(A) Lok Janshakti Party

(B) Bahujan Samaj Party

(C) Jharkhand Mukti Morcha

(D) Bharatiya Janata Party

42. ST fohE TStelfdsh gl &1 goATd e & ?
(A) GHTSTAIET 9rél

(B) ISET AT el

(C) <t STeTerfdd gref

(D) SR Fegfaee oref



Bungalow is the election symbol of which political party?
(A) Samajwadi Party

(B) Rashtriya Janta Dal

(C) Lok Janshakti Party

(D) Communist Party of India

43. s¥er 1Y RS e Tt @ FeEaeud § 2
(A) [ER, 3R 9o, ALT e
(B) affAeTg, e, dellce

(C) d9f¥gs §9Ne, 3a% Weel, Ul

(D) ISR, HERTSE, HEF Fe2T

Narmada Valley Project is related to which states ?
(A) Bihar, Uttar Pradesh, Madhya Pradesh

(B) Tamil Nadu, Kerala, Karnataka

(C) West Bengal, Uttar Pradesh, Punjab

(D) Gujarat, Maharashtra, Madhya Pradesh

44. TFT 7 8 Pl ARAT fhae gfadeT & 974G Aar F ?
(A) STRIERTEr FARTIOT

(B) =terdt =vor fog

(C) Feew fHe fesra

(D) ARRGH &S



Who among the following was a prominent leader of the Bhartiya Kisan
Union ?

(A) Jayprakash Narayan
(B) Chaudhary Charan Singh
(C) Mahendra Singh Tikait

(D) Morarji Desai

45, TSem 9RYe &I FEAFH fhdel a¥ & giar & ?
(A) 4 a¥
(B) 5 @y
(C) 6 a¥
(D) 2 ¥

What is the term of Zilla Parishad ?
(A) 4 years
(B) 5 years
(C) 6 years
(D) 2 years

46. TETIC ST GOSN T YT Fel g5 oA 2
(A) foer

(B) T

(C) Feteah

(D) #FERTSE



Where was the Panchayati Raj System started?
(A) Bihar

(C) Karnataka

(B) Rajasthan

(D) Maharashtra

47. JATH 9IIId HT T Pl gl & ?
(A) 9Tdg

(B) #gTdR

(©) 3

(D) HR&

Who is the head of Gram Panchayat ?
(A) Parshad

(B) Mayor

(C) Commissioner

(D) Mukhiya

48. IogITel I AYfFT Pl FIAT § 2
(A) Trsgafa

(B) gHT=THAT

(C) 3uregafa

(D) ATT#AT



Who appoints the Governor ?
(A) President

(B) Prime Minister

(C) Vice-President

(D) Chief Minister

49. 37T Wil F T FT FFEY fHH A X § ?

(A) cferoT 3ThIehT

(B) FAR

(C) #refet

(D) sgetet

To which country is Aung San Suu Kyi related ?
(A) South Africa

(B) Myanmar

(C) Sri Lanka

(D) Bhutan

50. R ISCT HIPH T FATAT Fel §5 ?
(A) 1732
(B) 1885
(C) 1890
(D) 1945



When was the Indian National Congress established ?
(A) 1732
(B) 1885
(C) 1890
(D) 1945

51. ifafaar & SeHay 1 JTT FHROT FAT AT ?
(A) Tt &t AT 7 gefer

(B) WiedTesl T HHAT H Jefer

(C) 9crel &1 AT # gefe

(D) ST @ IS Tg

What was the main cause of mass struggle in Bolivia?
(A) Water price hike

(B) Increase in the price of food grains

(C) Petrol price hike

(D) None of these

52. et & & foh IF & AU TATFgeR 9H T & a<el & fIT 39l
HTST SeeT &Y ?

(A) gReT
(B) 3#Hd STSIR Ti=ehr
(C) HTST

(D) T gfsa



Which of the following papers changed its language overnight to avoid
the Vernacular Press Act?

(A) Harijan
(B) Amrita Bazar Patrika
(C) Maratha

(D) Young India

53. faeg & ATYUA HaoT N YTITA Fl g% ?
(A) ==t

(C) siraret

(B) #md

(D) foreat

Where did printing start first in the world?
(A) China

(C) Japan

(B) India

(D) Britain

54. et 7 O fohE GFAS A el & atfaqfd Ui &1 7 & & amar 2
(A) FAET TFERTT

(B) T wFao

(C) RA-E-AeRT FFAe

(D) wilEa FHAeA



In which of the following conferences Germany's compensation amount
was reduced?

(A) Kyoto conference
(B) Vienna conference
(C) Rio-de-Janeiro conference

(D) Lausanne conference

55. 3TANGRT # = Ster' fohdel o] &l ?
(A) 3TsTEH foishet

(B) harforeT 3 wordec

(C) s 3T

()RGERG]

Who implemented the 'New Deal' in America?
(A) Abraham Lincoln

(B) Franklin D. Roosevelt

(C) Barack Obama

(D) Nixon

56. Sl & of foha M &1 3faswR fomar 2
(A) Reafdsr S

(B) UraReH

(C) welgaT e

(D) arsq gt



Which machine did John Kay invent ?
(A) Spinning Jenny

(B) Powerloom

(C) Flying shuttle

(D) Steam engine

57. IATFgeR 9H Tae HI fhaa g fHar 2
(A) &3 forea

(B) @18 Rust

(C) @S Serglsi

(D) =TS XA

Who repealed the Vernacular Press Act?
(A) Lord Lytton

(B) Lord Ripon

(C) Lord Dalhousie

(D) Lord Irwin

58. T H 3FeUHd dTell ol FAT ShgolldT ?
(A) NARF

(B) #HeTalfas

(C) WIBRT

(D) 3a7H & HIS a1



What was minority party called in Russia ?
(A) Bolshevik
(B) Menshevik
(C) Proletariat

(D) None of these

59. STHIGIS &I PR gl &AT ?
(A) I fagdamH

(B) cfarofr faardsira

(C) FFarfzar

(D) &g

Where was Bao Dai's government ?
(A) North Vietnam

(B) South Vietnam

(C) Cambodia

(D) Hanoi

60. 3T 3R cfEroll faTAATH T THIHIOT el §3HT 2
(A) 1960
(B) 1965
(C) 1975
(D) 1976



When was the unification of North and South Vietnam held ?
(A) 1960
(B) 1965
(C) 1975
(D) 1976

61. o & & fopueh ATETT A FTell T ThIhoT TUT €3 2
(A) A=

(B) 3T FIR

(C) faarex sHeua

(D) $1H & |l

Who of the following contributed to the completion of unification ltaly ?
(A) Mazzini

(B) Count Cavour

(C) Victor Emmanuel

(D) All of them

62. grter forE &er T ardifas ar 2
(A) wiE

(B) gcell

(C) STo=Y

(D) 3fifegar



Hegel was the philosopher of which country?
(A) France

(B) ltaly

(C) Germany

(D) Austria

63. STHT TS I 1 fAATT fohaar fhar ar ?
(A) =5 XVIII

(B) aaiforae Siamare

(C) =iuiferzst Il

(D) foeATH

Who had created the state of Rhine in Germany?
(A) Louis XVIII

(B) Napoleon Bonaparte

(C) Napoleon lli

(D) Bismarck

64. IedWrsey HAfgelm fgaq $r °vom fhd FEAT o & ?
(A) HeaRASET FHfgel AT

(B) €gFd IS¢ ¥H

(C) = w=

(D) 3nfamT



Which organization announced International Women's Day?
(A) International Women Commission

(B) United Nations Organisation

(C) European Union

(D) ASEAN

65. o foha oo & #HgT § 2
(A) Foemge

(B)

(C) aurer

(D) STIeTeRr

Taka is the currency of which country?
(A) Singapore

(B) Iraq

(C) Nepal

(D) Bangladesh

66. TR # dgel & JTHIOT dF FHid FAAT FHT ?
(A) 1974
(B) 1975
(C) 1976
(D) 1977



When was the first Regional Rural Bank established in Bihar ?
(A) 1974
(B) 1975
(C) 1976
(D) 1977

67. Feald HeghNI dF fohd TR W HH AT § 7
(A) ITH TR
(B) &rem &
(C) TsT &R

(D) TSI TR

At what level does the Central Cooperative Bank work?
(A) Village level

(B) District level

(C) State level

(D) National level

68. WufA+ H¥ Tr@ FATT Fuhl F hT JHR FHT FOT YeTeT HIcl & ?
(A) et

(C) Erdepreited

(B) HAEIHTellT

(D) 375 @ @l



What type of loan is provided to the farmers by the Primary Agricultural
Credit Society?

(A) Short term
(B) Medium term
(C) Long term
(D) All of these

69. 3 fashra &1 JET &aF FAT § ?
(A) P

(B) e

(C) fafasTor

(D) @ar

What is the third sector of economic development?
(A) Agriculture

(B) Industry

(C) Manufacturing

(D) Service

70. TXHR GART SRMT AT HAGIS [AIF0T qUT Jidewell I gerer T
FEATAT & ?

(A) AT
(B) 3grreTor
(C) dedranior
(D) 37 & HIS e



Removal of unnecessary controls and restrictions imposed by the
government is called https://www.bsebstudy.com

(A) Privatization
(B) Liberalization
(C) Globalization

(D) None of these

71. faRa AR EI6 I JEATT Fel ¢ ?
(A) =g

(B) arfrerest 3r.ar.

(C) Stetar

(D) =

Where is the headquarters of World Trade Organization?
(A) New York

(B) Washington D.C.

(C) Geneva

(D) Rome

72. IAH H IYHFAT EETOT & fohclel T ITGET HH X W@ 8 ?
(A) 34
(B) 35
(C) 32
(D) 36



How many State Commissions are currently working for consumer
protection?

(A) 34
(B) 35
(C) 32
(D) 36

73. g AR g F Few §
(A) Srehrar - ReRT

(B) IGIHIAT - HleeAdR

(C) rorehrell - AfeeAgT

(D) hlIeTehrcT - grasT

The centre of Hooghly industrial region is
(A) Kolkata - Rishra

(B) Kolkata - Konnagar

(C) Kolkata - Medinipur

(D) Kolkata Howrah

74. AR &1 GH BT Yoid SileT i g ?
(A) 3T Jea

(B) 3a-gdt HATT Tord

(C) afor-qd Yo

(D) gl deadr Yo



Which is the smallest railway zone in India?
(A) Northern railways

(B) North-east Frontier railways

(C) South-eastern railways

(D) East coastal railways

75. wieer T s &7 Fel Rud § ?
(A) feer

(B) af¥aa s9rmer

(C) ael

(D) 3nf3am

Where is Falta Special Economic Zone located?
(A) Bihar

(B) West Bengal

(C) Kerala

(D) Odisha

76. AR &7 Ggell HHAC HIT gl TAMAT §IHT ?
(A) feoelr
(B) Shreihrdr
(C) HFsg
(D) Ae=1s



Where was the first cement plant established in India?
(A) Delhi

(B) Kolkata

(C) Mumbai

(D) Chennai

77. SIRA & SfHaH fFE A@T FI Fgl Sar § ?
(A) STPRY

(B) ST

(C) farems

(D) Xarst

Which city is known as Birmingham of India?
(A) Bokaro

(B) Jamshedpur

(C) Bhilai

(D) Rewari

78. FT H & i SfiareA sudA g ?
(A) rarem

(B) ugiferaa

(C) wrpfas g

(D) 375 @ @l



Which of the following is a fossil fuel?
(A) Coal

(B) Petroleum

(C) Natural Gas

(D) All of these

79. ST IR T LT T £F ?
(A) 1970
(B) 1973
(C) 1975
(D) 1978

When was the Tiger Project started?
(A) 1970
(B) 1973
(C) 1975
(D) 1978

80. FISAIM TSET 3T gl U ¢ ?
(A) TSTELTHA
(B) 3aX 9er
(C) 3RT@vs

(D) 31+



Where is Kaziranga National Park located?
(A) Rajasthan

(B) Uttar Pradesh

(C) Uttarakhand

(D) Assam

gus - d / SECTION - B
sfagra / History

o 3T 9o / Short Answer Type Questions

U HEAT 1 ¥ 6 deh o 30U &1 37 F fhegl 3 Ul & 3W ¢l T i+
g & fow 2 3/ AR gl

Question Nos. 1 to 6 are Short Answer Type. Answer any 3 questions.
Each question carries 2 marks.

1. A Hifd & a1 HLHA & Aded H Soll DR T HET 3667 FT AT ?

What was the main objective of the government formed under the

2. WfeteT garr a5 e Afa Fr gwom =7 v 7 ?

Why was the New Economic Policy announced by Lenin ?

3. gl-A-fAeg AET Hr FI7 3uANar o 2

What was the utility of Ho-Chi-Minh route?



4. Jofe Tae § 3T &1 GHSTT & ?

What do you understand by Rowlatt Act?

5. therdl gouTrelr & AT & fFegl g FRUN I garsv|

State any two reasons for the development of Factory system.

G.Wmmﬁwwwi@é?

Under what circumstances was the Indian National Congress established?

& 393 U9 / Long Answer Type Questions

el TEAT 7 3R 8 &Y 398w &1 saF ¥ Rl U &7 39 &1 S wee
faT 4 3% FuRa 2

Question Nos. 7 and 8 are Long Answer Type. Answer any one of them.
Each question carries 4 marks.

7. 335 a7 3 B 9eR HRAY Usgare & 36T H FAgcaqol HfAw s

How did English education play an important role in the rise Indian
nationalism?

8. THI Hifd o THATT T T H|

Discuss the impact of the Russian Revolution.



Usteifa @71 / Political Science

o 3°4F WeeA / Short Answer Type Questions

TR HEAT 9 AR 12 dF oY 3N g1 38 4§ Fdr 2 weaAl & IR | I AF
e & fow 2 3% AuiRa gl

Question Nos. 9 to 12 are Short Answer Type Answer any 2 questions.
Each question carries 2 marks.

9. grATTSIe FHTaTT & 39T Fa7 HfAIT § 2

What do you mean by social division ?

10. 79X 9 & 3T & Far & @)

Write the sources of income of Municipal Corporation.

1. dehAd fAATT & ToEiiaes g &I Far A gidr & ?

What is the role of a political party in the formation of public opinion?

12. AT TET gaeyr $ir F [{AYare sasv|

State two features of Indian Federal system.

& 3987 wesT / Long Answer Type Questions

g HEAT 13 U9 14 &9 3999 &1 398 & [hdT T &7 39X &1 93 9
F T 4 375 Fuia 2




Question Nos. 13 and 14 are Long Answer Type. Answer any one of
them. Each question carries 4 marks.

13 HET cTEAT TSE Uhdl & Hedl & A H fFH YR Hgrgeh il 8?

How does the Federal system help in promoting the values of national
unity?

14. IS S ToTelid T ThR dllhdd &l TATIAT Hddr g ?

How does coalition politics affect democracy?

FgemEs / Economics

o 3T 9ReT / Short Answer Type Questions

9Re TEAT 15 @ 18 O oY 38T 81 58 & fohoel 2 9l & 3R &1 JcAh
weel & faw 2 3/ feiRa g

Question Nos. 15 to 18 are Short Answer Type. Answer any 2
questions. Each question carries 2 marks. 2-2-4

15. 3 fashre 3R 3T+ gefer # Haw Tose Y|

Explain the difference between economic development and economic
growth.

16. PR e Yutmelr ¥ 3T9aT FAT HATT & ?

What do you mean by Core Banking System ?



17. 31T &1 G & @Y Feraed UM S|

Establish the relationship between income and poverty.

18. T WEIIT WA q 39T &A1 A & ?
What do you understand by self-help group?

& 398 wesT / Long Answer Type Questions

gesT TEAT 19 ug 20 & 398 &1 S5 & Fd e &7 3 & I AH 92T
& foT 4 3w RufRa g

Question Nos. 19 and 20 are Long Answer Type. Answer any one of
them. Each question carries 4 marks.

19. dATHIUT & Tcahl I FEaR & @

Write in detail the components of globalization.

20. IS 3T @1 I FAST| FHRT 0T dr gH@ fafet drow=r w0

State the meaning of national income. Discuss the main methods of its
calculation.

PN / Geography
&g AT 9Re / Short Answer Type Questions



TR HEAT 21 | 26 O ofg 3T g1 3987 @ fhegl 3 W&l & 3 &1 JAh
T & fow 2 3% AuRa gl

Question Nos. 21 to 26 are Short Answer Type. Answer any 3
questions, Each question carries 2 marks.

21. TEOH T3St TSTHANET F1 g ?
What is Golden Quadrilateral Highway ?

22. a1 UTicash Wisloll & A1 faf@u|

Name two non-metallic minerals.

23. G F3T T 3cUieeT & giar & ?

How is solar energy produced?

24. J9 fafaerdar #=ar g ?

What is Biodiversity?

25. SHAEEAT Uedcd I 3TYRT FIT AT § ?

What do you mean by density of population?

26. ATT IMEAAT T TATAT T aTel foheql &I FRPI HT 3ol SIToTT|

Mention any two factors affecting cropping intensity.

arer 38T w2 / Long Answer Type Questions



99T HEAT 27 UG 28 &Y 3a9F &1 397 & Rl e &1 39T &1 A 9T
& faT 4 3o @AuiRa g

Question Nos. 27 and 28 are Long Answer Type. Answer any one of
them.

Each question carries 4 marks.

27. Gdd TAsrE & HTUROM &l IT&AT HifSiv]

Explain the concept of sustainable development.

28. R Hifd FT & ? HARAT Y 9T SHBI FAT Fed I3T ?

What is Green Revolution? What was its impact on Indian agriculture?

T9eT vy« / Disaster Management

oy 3a4T 92T / Short Answer Type Questions

YR HEAT 29 | 32 e Y IR g1 31 & fhegl 2 WRaAl & IR &1 IcAh
gesT & forw 2 319 AUTRT &1 https://www.bsebstudy.com

Question Nos. 29 to 32 are Short Answer Type. Answer any 2
questions. Each question carries 2 marks.

29. Wrepfdeh 3TUer 3R AT Sfeld 3M9er H A7 Heel & ?

What is the difference between natural disaster and manmade disaster?



30. §@ & fav [SFAaR FRS! S dET]

Mention the factors responsible for drought.

31. Gl & ARG Jd FT FHF A & 3IT TABT

Mention the measures to reduce the devastating effect of Tsunami

32. Ge¥ HACT 3YIE FAT § ?

What is remote sensing satellite ?



